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A manufacturer of diet soda is considering three alternation can colors-red, yellow, and blue. To
check whether such considerations have any effect on sales, sixteen stores have been chosen
with six of them selling red can soda, five others selling yellow ones, and the remaining five
selling blue can soda. After a few days, a choice is made on the number of sales in each store.

The results (in terms of cans) are shown in the following table:

Red Yellow Blue
8 10 9
9 7 8
10 6 9

6 12
5 11
7

()it FIACRRAE. (SSB) [ g (SSW) -
(b)ﬁ% Fp TR B0 ke o
()b FER IS (& B ORYARRL BAE - (= 0.05)

[5itr]
Red Yellow Blue 3k
8 10 9 '
9 7 8
10 6 9
8 6 12
7 5 11
7
XA 49 34 49 132
np 6 5 5 16

(XA)/n, | 400.1667  231.2 480.2 | 1111.567

x° Red Yellow Blue &gt
64 100 81 '
81 49 64
100 36 81
64 36 144
49 25 121
49
£E 407 246 491 1144
fighfe! s YR A FIEI7 S A F p F*
e 22.57 2 11.28 4.523 0.0323 3.8056
ST R 3243 13 2.49
SR 55.00 15 o= 0.05
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(a)

2
SSB=1,111.567 - 132 =22.57
SSW = SST —SSB =1,144—1,111.57 =32.43
(b)
ARl T A FrEhg 5 A F
5 E'@‘ﬁ' 22.57 2 11.28 4.523
[ i ! 3243 13 2.49
%Fﬂ@&l 55.00 15
(c)
F=4523eR={F>F 0y o :3.806} » AR
= PO TIIELY 5 BT 2 A
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[7iFr]

X y x? y? Xy

-2 1 4 1 -2

-1 1 1 1 -1

0 2 0 4 0

1 4 1 16 4

2 4 4 16 8

0 12 10 38 9

n= 5

WIHph e pig t P t

o 2.400 0.271 3 8.863  0.0030 3.1824

B 0.900 0.191 3 4700 0.0182 3.1824

R’ 0.8804

R’-adj 0.8406
PRt y=24+09x

WER T LA [y tmy  F p =
S 8.10 1 8.10 22.091 0.0182 10.1280
Bk 110 3 0.37

S 920 4 a= 005

(a)
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(1) &eN(0,0),i=L...,n
2) cov(ei,gj)zo, izj,i,j=1...,n

(b)
i nZxy —(Zx)(Zy) 5x9-0x12
nEx? —(2x)”  5x10-0%0
(©)
RE=SR_B1_eq
SST 92
(d

F=22091eR={F>F_ . ,=10128] » i H, RECESE L
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